ADDING UP TO 1 000 000 WITHOUT CARRYING (H - SET 3)

TEST 1

Name:

Time:

Score:

n 201452 4 252101 =

2 792176 + 205500 =

8 528225 + 10003 =

9985601 + 3218 =

5 798370 + 613 =

0 8183 + 810504 =

N 921596 + 34303 =

26149 + 142600 =

9 544006 + 933361 =

0 772856 + 113131 =

1) 240570 + = 1000000

12) 820244 + — 1000000

13) 722372 4160112 =

1) 709314 + 130555 =

15 607600 + 290290 =

Mathematics: Addition - Level 8 - Horizontal - Set 3
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19)

20)

21)
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24)

25)

26)

29)

30)

450277 + 125302 =

770758 + 16111 =

458822 + 120050 =

103332 + 694500 =

4135306 + 346162 =

253073 + 545815 =

140392 + 721303 =

714262 + = 1000000

708757 + = 1000000

44532 4- 114206 =

131249 + 31000 =

29893 + 410102 =

620922 + 309051 =

478074 4 10503 =

302117 + 22201 =
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